

Indeterminate form $(\infty - \infty)$
Exy. Evaluate $\lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right)$

Sol. This is of the form $(\infty - \infty)$

\therefore Then given limit $\lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right)$

$$= \lim_{x \rightarrow 0} \frac{\sin^2 x - x^2}{x^2 (\sin^2 x)} \quad [\text{form } \frac{0}{0}]$$

$$= \lim_{x \rightarrow 0} \frac{(x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots)^2 - x^2}{x^2 (x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots)^2}$$

$$\therefore \sin x = x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots$$

$$= \lim_{x \rightarrow 0} \frac{\left(x^2 + \frac{x^6}{L^3 \cdot L^3} + \left(\frac{x^5}{L^5} \right)^2 + \dots - 2 \cdot x \cdot \frac{x^3}{L^3} + \frac{2x \cdot x^5}{L^5} - \dots \right) - x^2}{x^2 \left[x^2 + \left(\frac{x^3}{L^3} \right)^2 + \left(\frac{x^5}{L^5} \right)^2 + \dots - \frac{2x \cdot x^3}{L^3} + \frac{2x \cdot x^5}{L^5} - \dots \right]}$$

$$= \lim_{x \rightarrow 0} \frac{\left(\frac{-2x^4}{6} + x^6 \left(\frac{1}{36} + \frac{2}{120} \right) - \dots \right)}{\left(x^4 - \frac{2}{6} x^6 + \dots \right)}$$

$$= \lim_{x \rightarrow 0} \frac{x^4 \left[-\frac{2}{6} + x^2 \left(\frac{1}{36} + \frac{1}{60} \right) + \dots \right]}{x^4 \left[1 - \frac{1}{3} x^2 + \dots \right]}$$

$$= \lim_{x \rightarrow 0} \frac{\left(\frac{1}{3} - x^2 \left(\frac{1}{36} + \frac{1}{60} \right) + \dots \right)}{1 - \frac{1}{3} x^2 - \dots}$$

$$= \frac{1}{3}$$

$$\therefore \lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right) = \frac{1}{3}$$

Indeterminate form $(\infty - \infty)$

Ex. Evaluate $\lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right)$

Sol. This is of the form $(\infty - \infty)$

\therefore Then given limit $\lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right)$

$$= \lim_{x \rightarrow 0} \frac{\sin^2 x - x^2}{x^2 (\sin^2 x)} \quad [\text{form } \frac{0}{0}]$$

$$= \lim_{x \rightarrow 0} \frac{(x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots)^2 - x^2}{x^2 (x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots)^2}$$

$$\therefore \sin x = x - \frac{x^3}{L^3} + \frac{x^5}{L^5} - \dots$$

$$= \lim_{x \rightarrow 0} \frac{(x^2 + \frac{x^6}{L^3 \cdot L^3} + (\frac{x^5}{L^5})^2 + \dots - 2 \cdot x \cdot \frac{x^3}{L^3} + \frac{2x^2 \cdot x^5}{L^5} - \dots) - x^2}{x^2 [x^2 + (\frac{x^3}{L^3})^2 + (\frac{x^5}{L^5})^2 + \dots - \frac{2x \cdot x^3}{L^3} + \frac{2x \cdot x^5}{L^5} - \dots]}$$

$$= \lim_{x \rightarrow 0} \frac{(\frac{2x^4}{6} + x^4 (\frac{1}{36} + \frac{2}{120}) - \dots)}{(x^4 - \frac{2}{6}x^6 + \dots)}$$

$$= \lim_{x \rightarrow 0} \frac{x^4 [-\frac{2}{6} + x^2 (\frac{1}{36} + \frac{1}{60}) + \dots]}{x^4 [1 - \frac{1}{3}x^2 + \dots]}$$

$$= \lim_{x \rightarrow 0} \frac{(\frac{1}{3} - x^2 (\frac{1}{36} + \frac{1}{60}) + \dots)}{1 - \frac{1}{3}x^2 - \dots}$$

$$= \frac{1}{3}$$

$$\therefore \lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right) = \frac{1}{3}$$